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NEW QUESTION 1
An administrator needs to consolidate a number of physical servers by migrating the workloads to a software-defined data center solution.
Which VMware solution should the administrator recommend?

A. VMware Horizon
B. VMware vSAN
C. VMware vSphere
D. VMware

Answer: C

NEW QUESTION 2
An administrator is tasked with applying updates to a vSphere cluster running vSAN using vSphere Lifecycle Manager. Downtime to the ESXi hosts must be
minimal while the work is completed.
The administrator has already completed the following steps and no errors have been returned:
Downloaded all applicable software and created a new image.
Attached the new image to the cluster and run a compliance check against the image for the cluster.
Ran a remediation pre-check for the cluster.
Which two series of steps should the administrator perform to start the remediation of the cluster using the new image? (Choose two.)

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 3
Allow vSphere Lifecycle Manager to automatically control maintenance mode on the ESXi hosts.

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 4
Use the Stage option in vSphere Lifecycle Manager to stage the required software on all ESXi hosts one at a time.

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 5
Use the Stage All option in vSphere Lifecycle Manager to stage the required software onto all ESXi hosts one at a time.

A. Mastered
B. Not Mastered

Answer: A

NEW QUESTION 6
An administrator is working with VMware Support and is asked to provide log bundles for the ESXi hosts in an environment.
Which three options does the administrator have? (Choose three.)

A. Generate a combined log bundle for all ESXi hosts using the vCenter Management Interface.
B. Generate a separate log bundle for each ESXi host using the vSphere Host Client.
C. Generate a combined log bundle for all ESXi hosts using the vSphere Client.
D. Generate a separate log bundle for each ESXi host using the vSphere Client.
E. Generate a separate log bundle for each ESXi host using the vCenter Management Interface.
F. Generate a combined log bundle for all ESXi hosts using the vSphere Host Client.

Answer: ABF

NEW QUESTION 7
An administrator is tasked with configuring remote direct memory access (RDMA) over Converged Ethernet v2 (RoCE v2).
Which two types of adapters must the administrator configure? (Choose two.)

A. Paravirtual RDMA adapter
B. RDMA network adapter Most Voted
C. Software iSCSi adapter
D. Fibre Channel over Ethernet (FCoE) adapter
E. Software NVMe over RDMA storage adapter Most Voted

Answer: BD
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NEW QUESTION 8
Which two datastore types store the components of a virtual machine as a set of objects? (Choose two.)

A. VMware Virtual Machine File System (VMFS)
B. VMware vSAN
C. Network File System (NFS) 3
D. vSphere Virtual Volumes (vVols)
E. Network File System (NFS) 4.1

Answer: AD

NEW QUESTION 9
A company has two sites: Site A and Site B. The administrator would like to manage the VMware vCenter inventories in both sites from a single vSphere Client
session.
Which vCenter feature must be configured?

A. VMware Certificate Authority
B. VMware Site Recovery Manager
C. vCenter Single Sign-On
D. Enhanced Linked Mode Most Voted

Answer: C

NEW QUESTION 10
An administrator is tasked with configuring certificates for a VMware software-defined data center (SDDC) based on the following requirements:
All certificates should use certificates trusted by the Enterprise Certificate Authority (CA).
The solution should minimize the ongoing management overhead of replacing certificates.
Which three actions should the administrator take to ensure that the solution meets corporate policy? (Choose three.)

A. Replace the VMware Certificate Authority (VMCA) certificate with a self-signed certificate generated from the VMCA.
B. Replace the machine SSL certificates with custom certificates generated from the Enterprise CA.
C. Replace the machine SSL certificates with trusted certificates generated from the VMware Certificate Authority (VMCA).
D. Replace the VMware Certificate Authority (VMCA) certificate with a custom certificate generated from the Enterprise CA.
E. Replace the solution user certificates with custom certificates generated from the Enterprise CA.
F. Replace the solution user certificates with trusted certificates generated from the VMware Certificate Authority (VMCA).

Answer: BDE

NEW QUESTION 10
An administrator is tasked with moving an application and guest operating system (OS) running on top of a physical server to a software-defined data center
(SDDC) in a remote secure location.
The following constraints apply:
The remote secure location has no network connectivity to the outside world.
The business owner is not concerned if all changes in the application make it to the SDDC in the secure location.
The application’s data is hosted in a database with a high number of transactions.
What could the administrator do to create an image of the guest OS and application that can be moved to this remote data center?

A. Create a hot clone of the physical server using VMware vCenter Converter.
B. Create a cold clone of the physical server using VMware vCenter Converter.
C. Restore the guest OS from a backup.
D. Use storage replication to replicate the guest OS and application.

Answer: B

NEW QUESTION 15
An administrator is tasked with installing VMware vCenter. The vCenter Server Appliance must support an environment of:
400 hosts
4000 virtual machines
Which two resources must be allocated, at a minimum, to meet the requirements? (Choose two.)

A. 16 vCPUs
B. 30 GB Memory
C. 4 vCPUs
D. 8 vCPUs
E. 20 GB Memory

Answer: BD

NEW QUESTION 16
Which feature would allow for the non-disruptive migration of a virtual machine between two clusters in a single VMware vCenter instance?

A. vSphere vMotion
B. Cross vCenter Migration
C. vSphere Storage vMotion
D. vSphere Fault Tolerance

Answer: B
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NEW QUESTION 21
......
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